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Example: Torque vs. Ship
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Example: Torque vs. Slip
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What is the torque?
a) 98.09 Nm c) 196.18 Nm

b) 1232.6 Nm d)21.07 Nm



g ¥ ]
. g 10 jo. I(=2)
-
2, e (pwected
PoleDhe  \- HoOV p-4, N7 rpm
P= "2
What is the torque?
a) 98.09 Nm c) 196.18 Nm

b) 1232.6 Nm d)21.07 Nm
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What does “‘starting” mean?

* Calculate torque at motor starting

* At starting, motor 1s just about to move, but hasn’t started moving yet
w, =0,s=1
1-s

* The R, (T) term in circuit becomes a short

* Evaluate the circuit as usual to find the torque
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What 1s the current drawn by the
system at start?

a) 149.812 — 81.54° A

b) 86.49~2 — 81.54° A
c)11.8224 —-90° A

d) 1002 — 81.54° A
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Example

: What is the starting torque?
Fall 2003 Final 2) 29.76 Nm

b) 9.92 Nm
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